| 2-4 Parallel and Perpendicular Lines Date:

Parallel Lines//
Wt Sawe Slipe

Perpendicular Lines _L

have oppos'lk, reupVodid 3lopes

Ex 1
What is the equation of the line in slope-intercept form that passes through the point (8, 9) and is parallel to the

raph o zéx— ? X\ﬂ
graph of y 4 ZJ Ws V\A§ M:%'_' q:%(%s_\_b OR S’Q;%(x-’?)
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1= (7= 2]

Try It!

Write the equation of the line in slope-intercept form that passes through the point (-3, 5) and is parallel to
__2 1-_( X

y = 3x. 5:-3-})“’b 5

H=2+b
3=b

m

Ex 2 *Show video from online text Section 2-4 Ex 2

How can you show that two lines are perpendicular?

A. How can you create two perpendicular lines?

B. How do the slopes of perpendicular lines compare? %V
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Try It!

Why does it make sense that slopes of perpendicular lines have opposite signs?

v ondis pos ,/ "\

1 ot st be neg
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Ex 3
What is the equation of the line that passes through the point (1, 7) and is perpendicular to the graph of
X

y———x+11?

s S\ \S ‘l = q(‘\‘\’b
';;‘)M\m -E;PL =44

|y=tx3

Try It!
Write the equation of the line that passes through the point (4, 5) and is perpendicular to the graph of y = 2x — 3.
1 It
5=-3({)+b m=-7
6:—Qib
‘ L
1= b W: - 2;)("'.—'
Ex 4
Are the graphs of the equations E_ “4x+6andy = — %x — 5 parallel, perpendicular, orjneithef?
32 3% 3 "= 3
_4d L
U_ 3x+2
4
M="3
Try It!
Are the graphs of the equations parallel, perpendicular, or neither?
a.y=2x+6andy=%x+3 b.y =-5x and 25x +5y =1
m=1 m=3% m=-5 '5‘;\9 =-15%+t!
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m=-95
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Ex5
A landscaper plans to install two new paths in a park. The new Fountain Path will be perpendicular to the East Path

and lead to the fountain. The new Picnic Path will be parallel to the Fountain Path and pass through the picnic area.
What are the equations in point-slope form that represent the new paths?
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Try It!

The equation y = 2x + 7 represents the North Path on a map.

a. Find the equation for a path that passes through the point (6, 3) and is parallel to the North Path.
N~

m="2

y-H=2(x-b)

b. Find the equation for a path that passes through the same point but is perpendicular to the North Path.

M= -2

&,o, = -2(¥-U) \
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Concept Summary

Parallel Lines and Perpendicular Lines

Parallel Lines

m The graphs of two equations are

Mﬂg_if the slopes are the Same&
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Perpendicular Lines

The graphs of two equations are

pependicaler if the slopes arenmﬁ'_e

retiprocal

L
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y=%x+3 y==-2x+2

47
y=-12-x+3

2\ ;

-4 =2 |0 2 4

y=—=2{+2

24



